hEOYIAMNO=IINT=F v vY
Closed Centre Power Chuck (Long Stroke)

N L series

2EDA MO—Y
Extra Long Jaw Stroke

RicI— I BiERIBIE
Flange work securely gripped

*CEXIhG *CE correspondence

M ~1iEE Dimensional Drawings
w tL—YarEyF15 Q
R

U Serration pitch 1.5
,,,,, LT
A - —F
oH s
—— DT | —t
P cr=H+ [e)
=z
>
-
T <
-

NLO4

LY By F15 {RiEAkHEME Gripping Characteristic Graphs

Serration pitch 1.5 N N
XIRIFIREY TR a—ZHLBEEDHDTTY,
% With standard blank soft top jaw.

200
180
z
x 180 NL18
[o] 7
O 140
kel
e oo
g NLi2
Q 7
@ 2 100
[h]
1 g - ) NL10
N
T - Z__NLo8
&
13
K . 8 w NLO6
Nl . » £ NL04
NLO6~NL18 /
0 1000 2000 3000 4000 5000

[EER®E Speed : min-!

F n m'\iln. mgx. m(ijn. mZX. mFi:l. Q R u

NLO4 |110| 52| 60| 6 | 80 | 3m8 [ 12|14 | 265(2045| 975|675/ 18 | 3 [ 23]10 |25 | MI0O | 3 |26 |27 ] 86| - |-
NLO6 |165| 74|140| 5 |1048| 6M10 |14 |20 | 405(34 |1375| 925|1015| 815] 31 [12 |36 | M6 | 4 |34 |35 | 72 [M6x10[116
NLO8 |210| 85|170| 5 |1334] 6M12 |20 |25 | 481(40 |2075(1175[131 [106 | 35 [14 |36 | M20 | 5 |38 |42 | 95 |[M6x12[150
NL10 |254| 89 |220| 5 |1714| 6M16 | 18 | 30 | 544 (4535|295 (115 [161 [133 | 40 [16 |36 | M20 | 5 |45 | 46 | 110 [M8x15/190
NL12 [304[106|220| 6 [1714] 6M16 |18 |30 | 657 |56 [4275|1275|47 |17 | B0 |18 |46 | M24 | 5 |50 | 54 [ 129 [M8Xx15[190
NL18 |450(114|300| 6 |235 | 6M20 |30 |43 [1105 (975 |4725(2325| 97 |57 | BO (265|565 | M30 | 2 |65 | 61 | 135 |M10X20/260
M {t1%R Specifications XNL]B(;JU-/XVQVEgi%gr%DNéE?S@aZ sglgggjl%ﬁntd%;dlg égﬁéé
3 12 (rinni a0 » =3, A Sroee = OB =Y = (i3 N~ . EoeE . N

NLO4 |110 9 121 15 10 (1020)| 144(1468)| 5000 4.1 0.008 |YO715R/RE |29 (29.6) | SBO4BI1 -
NLO6 | 165 21 13 20 |21 (2141)| 39 (3977)| 4300 12 0.045 |Y1020R/RE |3.0 (30.6) | SBOBB1 | HBOBB1
NLO8 |210 21 162 25 |30 (3059)| 60 (6118)| 3600 229 0.138 |Y1225R/RE |29 (296) | SBOSB1 | HBOBAT
NL1O |254 24| 181 28 |40 (4079)| 81 (8260)| 3100 346 0.300 |Y1530R/RE 2.8 (286) | SB10A1 | HB10AT
NL12 |304 29 194 30 |54 (5508)| 111 (11319)| 2500 60 0.725 |Y1530R/RE |36 (36.7) | SB12A1 | HB12B]

NL18 |450 122 | o6 40 91 (9279)| 186 (18%66)| 2100 124 2.35 Y2050RE*| 35 (35.9) | SB15NI =




RROVIAMO=IINT=F ¥ (Ya—=b5=I\)
Closed Centre Power Chuck (Long Stroke, Direct Mount)

NL'A series

AEYVRIV/ =AW\ I T —MMTE
Chuck Adaptor is equipped to suit Spindle Nose ~

=T — I biERitiE

Flange work securely gripped '

*CEXdItm@ *CE correspondence

M ~1i%&E Dimensional Drawings o Q
tL—Y3>EyF15
w Serration pitch 1.5 R

Fig.2 Fig.1

{EiE Mk Gripping Characteristic Graphs

MIRFIEEY TN 3 —ZRHVICBEDBDTT,
% With standard blank soft top jaw.

z
<10 NL12A06], NLT2A08

[0} v

S 100

(=]

B NL10A06. NL10A0S

a v

g o NLOBAD6

A 7 NLOGAOS.

g

'_ &

R

[l

® 9 1000 2000 3000 4000 5000

[EE5EE Speed : min-
B TE3xR Dimensions xNL10A0B.NL12A0BIEFig.2lckd. %NL1OAOB and NL12A06 are based on Fig. 2.

B C \ N (0] 0 P P q

max. min. max. min. max. min.
1048|6-M10| 14 | 20 {405 |34 |1375| 92b| 865 | 665|31 (12 |36 |M16| 4 |34 (35| 72 |3M6 |116 | 15| 82563

NLOBAO5| 165| 84 | 140
NLOBAOG| 210| 97 | 170
NL10A0B| 254 | 104 | 220

38 (42| 95 |3M6 (160 |17 | 106375
45146 | 110 [6M12{1714 |20 | 106.375
45146 | 110 |3M8 |180 | 18139719
5054|129 |6M12[1714 |20 | 106.375
50|54 129 |3M8 [190 |18 139719

1334|6M12| 18 | 25 |48.1 (40 |2075(11.75|114 | 89 | 35|14 |36 |M20
1334 |6M16| 18 | 30 |544 (4535|295 |115 |141 | 113 |40 |16 |36 |M20
NL10A08| 254 | 102 | 220 1714|6M16| 25 | 30 |544 (4635|295 |115 |143 |115 |40 |16 |36 |M20
NL12A06| 304 | 120 | 220 1334|6M16| 18 | 30 |B5.7 |56 |4275[1275| 3 |-27 |50 |18 |46 |M24
NL12A08| 304 | 118|220 | 6 |1714|6M16| 25|30 |657|566 |4275|1275] 1 |-29 |50 |18 |46 |M24

| o1| o1 O O

aljorfol| o o1

M {t#k=| Specifications
(119 RER Griooing range y3-281- (BE)J5UUrANI-) SFSBANS BARMIEES HEERORIE 18 ER7H) MEE—XY b gas >y WERAUES EE/IMII- g8/\-(Va- 244y

guzt Sveciations

Jaw Stroke(diameter) Plunger Stroke Max. Draw Bar Pul Force Max. Gripping Force Max. Speed MetWe\'gmvﬂanmanaws Momint of inertia Matching Cylinder M’aé’(.(ﬁressure Matching  Matching  Spindle
g g-m? a

Model Max. Min. mm mm KN(kgf) kN (kgf) min gf/cm?)  Soft top jaw Hard top jaw nose size
NLOBAGS | 1685 21 13 20 21 (2141)] 39 (3977)| 4300 125 0.048 |Y1020R/RE | 3.0 (30.6) | SBOBB1 | HBOBB 1| A2-5
NLO8BAGE 210 21 16.2 25 30 (3059) | 60 (6118)| 3600 24.5 0.148 |Y1225R/RE | 2.9 (29.6) | SBO8B1 | HBOBA 1| A2-6
NL10AQE | 254 24 18.1 28 40 (4079)| 81 ( 8260)] 3100 40 0.335 |Y1530R/RE | 2.8 (28.6) | SB10A1 | HB1OAT| A6
NL10AQG8 | 254 24 18.1 28 40 (4079)| 81 (8260)| 3100 37.6 0.326 |Y1530R/RE | 2.8 (28.6) | SB10A1 | HB1OAT| A2-8
NL12A06 | 304 29 194 30 54 (5506) 111 (11319)] 2500 64.6 0.759 |Y1530R/RE | 3.6 (36.7)| SB12A1|HB12B 1| A2>-6
NL12A08 | 304 29 194 30 54 (5506) [111 (11319)] 2500 63 0.750 |Y1530R/RE|3.6 (36.7)| SB12A1|HB12B 1| A2-8




	NL series
	NL-A series

